BERY (F) EEEEE
AHEMKERE TR (DMT~26) WBH | & w000 5 mass 0T
1T =% = MK ERRET R (=FTT o 2 bk S : RS eI
1,702 561 1,141 594 565 29 13
FRALRNBEEEES (L)
Buit 3 #
: = 15~29%% | 30~39%% | 40~49r% | 50~59k% | 60~64%% | 65k E 5 15~295% | 30~39%% | 40~495% | 50~59k% | 60~64r% | 65mLLL
642 366 3 8 14 11 20 310 276 0 1 6 10 14 245
B4 LU DA REE DFRIR IR SR RIAR B 12K B4 LI DEE DRI RARE A (R E 2658 EDREK)
R A TR SERIC BE 5 FR(R B4 LUpg b
= HIRLAD | REREL | RELTY - HIELAD | ,o o REREL | BELTY
i g TR P e EEL L i gt T e EIEL i
A v AHt 3
594 122 116 6 0 23 449 416 99 93 6 0 8 309
BEREORNR HHEE (ha)
BEL BRESTE LN 5 m 8
EWANhE =5 [ BEDEN | EVWANT = BEDEN | EVWANT =0 o EEDIEN 1,261 935 326
seegy| A | ax seuny| A | ax sasny| B A
50 309 11,605 16 34 6,435 34 275 5,170
R T AR R AR B A2
HHEERR 0.3hak# | 0.3~05 | 0.5~1.0 | 1.0~1.5 | 1.5~2.0 | 2.0~3.0 | 3.0~5.0 | 5.0~10.0 100_ 20.0_ 30.0_ 200 m\Oha
L 20.0 30.0 50.0 100.0 HE
7 14 246 236 46 15 8 10 6 5 0 1 0 0
BEMIR S SRS R KRED TR IR
BEWOR| 5050 500 1000 3000 5000 _ ERER | wEE
= \ ~ ~ ~ ~ ~ ~ ~ ~ ~ S
= | pree 50~100 | 100~300 | 300~500 3000 3000 5000 . 1~3 3~5 SEMME (ha) 1)
132 310 73 40 7 17 8 4 2 0 1 0 587 2,780
R AR AR (i (D BRI B A R AT R E AR (5T 100075F)
5 WE | TZReY| BhHE | BRHE | 26 T zE |mzEmE| x| TZmew| B P s B
454 344 11 33 39 10 7 10 240 66 2 77 3 0 76



http://www.tcpdf.org

